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1. (a) ¤æ×øïõ¶ÛÛêµÛ ÅÛ”ÛÛé : (ïõÛé̂ ¸Û¨Û ¼Ûé) 6 

  Write a short note on : (any two) 

   (1) …ÛÜ¬ÛÙïõ ÈÛÁõþùà ›÷¬¬ÛÛé 

    Economic Order Quantity  

  (2) ÅÛàºõÛé ¸Û±ùÜ©Û 

    LIFO system  

  (3) ¼Ûà¶Û ïõÛ¦Ùø 

    Bin Card 

 (b) ’õÛÜ¶©Û Ü¾ÛÅÛ¶ÛÛ ºéõ¼Ûóä-13 ¾ÛÛÍÛ¶ÛÛ ïõÛ¾ÛþùÛÁõÛé¶Ûà ¾ÛÛÜÐü©Ûà ¶Ûà˜Ûé ¾Ûä›÷¼Û ™öé : 4 

  ¾ÛÜÐü¶ÛÛ¶Ûà ÉÛÄõ…Û©Û¶ÛÛ ïõÛ¾ÛþùÛÁõÛé – 11600 

  ¾ÛÜÐü¶ÛÛ¶Ûà …×©Û¶ÛÛ ïõÛ¾ÛþùÛÁõÛé – 4400 

  ÈÛÌÛÙ þùÁõ¾ýÛÛ¶Û ™æö¤øÛ ¬ÛýÛéÅÛÛ ïõÛ¾ÛþùÛÁõÛé¶Ûà ÍÛ×”ýÛÛ – 1120 

  ÍÛ×ýÛäî©Û ¸Û±ùÜ©Û ¾Ûä›÷¼Û ¾Û›æ÷Áõ ºéõÁõ¼ÛþùÅÛà þùÁõ 25% ™öé. 

  ¶ÛÈÛÛ Ü¶Û¾ÛÛýÛéÅÛÛ ïõÛ¾ÛþùÛÁõ¶Ûà ÍÛ×”ýÛÛ ÉÛÛéµÛÛé. 

  The following is the information of workers of Kranti Mill for the month of Feb. 

2013 : 

  No. of the workers at the beginning of the month – 11600 

  No. of the workers at the end of the month – 4400 

  No. of the workers who left the mill – 1120 

  Labour turn over ratio as per Flux method – 25% 

  Find out the no. of workers recruited in the mill. 
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 (c) ¤æ×øïõ¶ÛÛêµÛ ÅÛ”ÛÛé : (ïõÛé̂ ¸Û¨Û …éïõ)   4 

  Write a short note on : (any one) 

  (1) Š«Ûé›÷¶Û ÈÛé©Û¶Û ¸Ûó¬ÛÛ…Ûé 

    Incentive Wage Plans 

  (2) …ÛþùÉÛÙ ÈÛé©Û¶Û ¸Ûó¬ÛÛ¶ÛÛ ÅÛ“Û¨ÛÛé 

    Characteristics of Ideal Wage System 

…¬ÛÈÛÛ/OR 

 ïõÛÁõ”ÛÛ¶ÛÛ¶ÛÛ …éïõ ýÛ×ªÛ¶Ûé ÅÛ•Û©Ûà ÜÈÛ•Û©ÛÛé ¶Ûà˜Ûé ¾Ûä›÷¼Û …Û¸Ûà ™öé : 14 

   ÜÈÛÈÛÁõ¨Û `̀̀̀ 

ýÛ×ªÛ¶Ûà Ýïõ¾Û©Û 1,00,000 

©Ûé¶ÛÛ Š¸ÛýÛÛé•Ûà œ÷ÈÛ¶Û¶Ûé …×©Ûé ½Û×•ÛÛÁõ Ýïõ¾Û©Û    20,000 

(ýÛ×ªÛ¶Ûä× …ÛýÛäÌýÛ 10 ÈÛÌÛÙ ™öé.)  

ÍÛä̧ ÛÁõÈÛÛˆ¡öÁõ¶ÛÛé ¸Û•ÛÛÁõ (¾ÛÛÜÍÛïõ) 2,000 

ïõÛÁõ”ÛÛ¶ÛÛ¶Ûà ÈÛà›÷Çà þùÁõ ¾ÛÜÐü¶Ûé 200 

ïõÛÁõ”ÛÛ¶ÛÛ¶Ûä× …µÛÙ ÈÛÛÜÌÛÙïõ ½ÛÛ¦ä×ø 6,000 

ýÛ×ªÛ¶Ûä× ¾ÛÛÜÍÛïõ ÈÛà¾ÛÛ ¸ÛóàÜ¾ÛýÛ¾Û 50 

ýÛ×ªÛ¶ÛÛé ÍÛ¾ÛÛÁõïõÛ¾Û …¶Ûé Ü¶Û½ÛÛÈÛ”Û˜ÛÙ (ÈÛÛÜÌÛÙïõ) 1,000 

ýÛ×ªÛ¶ÛÛé ÈÛà›÷Çà¶ÛÛé ÈÛ¸ÛÁõÛÉÛ ïõÅÛÛïõ¶ÛÛ 10 ýÛäÜ¶Û¤ø 

100 ýÛäÜ¶Û¤ø¶ÛÛé ½ÛÛÈÛ ` 10 

ÈÛÌÛÙ þùÁõ¾ýÛÛ¶Û ýÛ×ªÛ¶ÛÛ ïõÛ¾ÛïõÛ›÷¶ÛÛ ïõÅÛÛïõÛé 2000 

 ýÛ×ªÛ ïõÛÁõ”ÛÛ¶ÛÛ¶Ûà ›÷•ýÛÛ¶ÛÛé 
1

4
 ½ÛÛ•Û ÁõÛéïéõ ™öé. ïõÛÁõ”ÛÛ¶ÛÛ¶ÛÛé ÍÛä̧ ÛÁõ ÈÛÛˆ¡öÁõ ¸ÛÛé©ÛÛ¶ÛÛ ÍÛ¾ÛýÛ¶ÛÛé 

1

4
 ½ÛÛ•Û …Û 

ýÛ×ªÛ ¸ÛÁõ …Û¸Ûé ™öé. ïõÛÁõ”ÛÛ¶ÛÛ¶ÛÛé ÈÛà›÷Çà ”Û˜ÛÙ, ÁõÛéïéõÅÛà ›÷•ýÛÛ¶ÛÛ ¸Ûó¾ÛÛ¨Û¾ÛÛ× ÈÛÐêü˜ÛÈÛÛ¶ÛÛé ™öé. 

 Š¸ÛÁõ¶Ûà ÜÈÛ•Û©ÛÛé ¸ÛÁõ¬Ûà 

 (a) ýÛÛ×ÜªÛïõ ïõÅÛÛïõ þùÁõ ÉÛÛéµÛÛé. 

 (b) …éïõ ›Ûé¼Û ¸ÛÁõ ÈÛ¸ÛÁõÛ©ÛÛ ¾ÛÛÅÛ ÍÛÛ¾ÛÛ¶Û¶Ûà Ýïõ¾Û©Û ` 120 ÐüÛéýÛ …¶Ûé ¸Ûó©ýÛ“Û ¾Û›æ÷Áõà ”Û˜ÛÙ ` 140 ÐüÛéýÛ 
©ÛÛé ›Ûé¼Û¶Ûà ¸Û¦ø©ÛÁõ ÉÛÛéµÛÛé. …Û ýÛ×ªÛ ¸ÛÁõ ›Ûé¼Û 10 ïõÅÛÛïõ¾ÛÛ× ¸ÛæÂú ¬ÛÛýÛ ™öé. 
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 The following information related to a machine : 

   Particulars `̀̀̀ 

Cost of Machine 1,00,000 

Estimated Scrap Value 20,000 

(At the end of effective working life of 10 years)  

Supervisor’s salary per month 2,000 

General lighting of the shop per month 200 

Rent of the shop per quarter 6,000 

Insurance premium for the machine per month 50 

Estimated repairs and maintenances charges for the machine per annum 1,000 

Power 10 unit per hour   

Rate of per hour per 100 unit 10 

Estimated working hours of the machine per annum 2000 

 The machine occupies 
1

4
th of the total floor area of the factory. The supervisor is 

expected to devote 
1

4
 of the time for supervising the machine. 

 General lighting expenses are to be apportioned on the basis of Floor area. 

 (a) Calculate the machine hour rate. 

 (b) The cost of materials used for the job is ` 120 and direct wages are ` 140. If the 

machine is used for the job to 10 hours. Calculate work cost of the job. 

 

2. þùÉÛÙ¶ÛÛ ÜÅÛ. ¶Ûä×. 31-12-13¶ÛÛ ÁõÛé›÷ ¸ÛæÁõÛ ¬Û©ÛÛ ÈÛÌÛÙ¶Ûä× ÈÛȩ́ ÛÛÁõ”ÛÛ©Ûä …¶Ûé ¶ÛºõÛ-¶ÛäïõÍÛÛ¶Û ”ÛÛ©Ûä ¶Ûà˜Ûé ¾Ûä›÷¼Û 
™öé :    14 

ÜÈÛ•Û©Û `̀̀̀ ÜÈÛ•Û©Û `̀̀̀ 

¾ÛÛÅÛ ÍÛÛ¾ÛÛ¶Û 40,000 ÈÛé̃ ÛÛ¨Û – 2700 …éïõ¾ÛÛé 1,00,000 

¸Ûó©ýÛ“Û ¾Û›æ÷Áõà 
ïõÛÁõ”ÛÛ¶ÛÛ¶ÛÛ ”Û˜ÛÛÙ 

24,000 

16,000 

…Û”ÛÁõ Í¤øÛéïõ Š©¸ÛÛþù¶Û¶ÛÛ 10%  8,000 

…ÛñºõàÍÛ ”Û˜ÛÛÙ 14,000 ¾ÛÇéÅÛ ÈýÛÛ›÷ 400 

ÈÛé̃ ÛÛ¨Û-ÜÈÛ©ÛÁõ¨Û ”Û˜ÛÛÙ 9,000 ¾ÛÇéÅÛ Ü¦øÜÈÛ¦ø¶¦ø 
¾ÛÇéÅÛ ½ÛÛ¦ä×ø 

400 

400 

¸ÛóÛ¬ÛÜ¾Ûïõ ”Û˜ÛÙ ¾ÛÛ×¦øà ÈÛÛÇéÅÛ 4,000   

¸ÛÛ–Û¦øà ¾ÛÛ×¦øà ÈÛÛÇéÅÛ 200   

˜ÛÛé””ÛÛé ¶ÛºõÛé 2,000   

 1,09,200  1,09,200 
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 ¸Û¦ø©ÛÁõ¶ÛÛ ÜÐüÍÛÛ¼ÛÛé ¶Ûà˜Ûé¶Ûà ¾ÛÛÜÐü©Ûà ¸ÛæÁõà ¸ÛÛ¦éø ™öé : 

 (1) ¾ÛÛÅÛ ÍÛÛ¾ÛÛ¶Û …¶Ûé ¾Û›æ÷Áõà ”Û˜ÛÙ ©Ûé¶Ûà ¸Û¦ø©ÛÁõ Ýïõ¾Û©Ûé þùÉÛÛÙÈÛÛýÛ ™öé. 

 (2) ïõÛÁõ”ÛÛ¶ÛÛ¶ÛÛ ¸ÛÁõÛé“Û ”Û˜ÛÛÙ ¸Ûó©ýÛ“Û ¾Û›æ÷Áõà¶ÛÛ 50% ÅÛé”Ûé •Û¨ÛÈÛÛ. 

 (3) …ÛñºõàÍÛ ¸ÛÁõÛé“Û ”Û˜ÛÛÙ ïõÛÁõ”ÛÛ¶ÛÛ ¸Û¦ø©ÛÁõ¶ÛÛ 20% •Û¨ÛÈÛÛ. 

 (4) ÈÛé̃ ÛÛ¨Û-ÜÈÛ©ÛÁõ¨Û ”Û˜ÛÛÙ …éïõ¾Û þùà¥ø ` 3 ÅÛé”Ûé •Û¨ÛÈÛÛ. 

 ©ÛíéýÛÛÁõ ïõÁõÛé  (1) ïäõÅÛ ¸Û¦ø©ÛÁõ þùÉÛÛÙÈÛ©Ûä ¸ÛªÛïõ  

   (2) ¼Û×¶Ûé ¶ÛºõÛ¶Ûä× ¾ÛéÇÈÛ¨Ûà ¸ÛªÛïõ. 

 The Trading A/c. and Profit & Loss A/c. of Darsana Ltd. is as under. The year ending on 

31-12-13. 

Particulars `̀̀̀ Particulars `̀̀̀ 

To Materials 40,000 By Selling (2700 units) 1,00,000 

To Direct Wages 

To Manufacturing Charge 

24,000 

16,000 

By Closing Stock (10% of 

production) 
8,000 

To Office Charge 14,000 By Interest Received 400 

To Selling & Distribution 

Charge 9,000 

By Dividend Received 400 

To Preliminary Exp. 

Written off 4,000 

By Rent Received 400 

To Goodwill written off 200   

To Net Profit 2,000   

 1,09,200  1,09,200 

 The Cost Accounts give following information : 

 (1) Materials and Wages are taken of their cost price. 

 (2) Overheads of company are taken as 50% of Direct wage. 

 (3) Office overheads at 20% of Factory Cost. 

 (4) Selling and distribution overheads at the rate of ` 3 per unit. 

 Prepare : 

 (1) Cost Sheet 

 (2) Reconciliation Statement 

…¬ÛÈÛÛ/OR 
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 ¶Ûà˜Ûé¶Ûà ¾ÛÛÜÐü©Ûà …ÈÛ¶Ûà …éÜ¶›÷¶ÛàýÛÁõá•Û ÜÅÛ. ¶Ûà ¸Û¦ø©ÛÁõ ”ÛÛ©ÛÛÈÛÐüà¾ÛÛ× 31-12-12¶ÛÛ ÁõÛé›÷ ÅÛéÈÛÛ¾ÛÛ× 
…ÛÈÛà ™öé :   14 

 ŠµÛÛÁõ ›÷¾ÛÛ 

¾ÛÛÅÛ-ÍÛÛ¾ÛÛ¶Û ”ÛÛ©ÛÛÈÛÐüà Ü¶ÛýÛ×ªÛ¨Û”ÛÛ©Ûä 3,40,000  

˜ÛÛÅÛä ïõÛ¾Û”ÛÛ©Ûä 2,60,000  

©ÛíéýÛÛÁõ ¾ÛÛÅÛ ”ÛÛ©ÛÛÈÛÐüà ÐüÈÛÛÅÛÛ”ÛÛ©Ûä 2,90,000  

ÍÛÛ¾ÛÛ¶ýÛ ”ÛÛ©ÛÛÈÛÐüà ÐüÈÛÛÅÛÛ”ÛÛ©Ûä  8,90,000 

 8,90,000 8,90,000 

 ÈÛÌÛÙ 2013¶ÛÛ ÈýÛÈÛÐüÛÁõÛé ¶Ûà˜Ûé ¾Ûä›÷¼Û ¬ÛýÛÛ Ðü©ÛÛ : 

 `̀̀̀ 

¾ÛÛÅÛÍÛÛ¾ÛÛ¶Û¶Ûà ”ÛÁõàþùà 15,00,000 

Š©¸ÛÛþù¶Û …×•Ûé …Û¸ÛéÅÛ ¾ÛÛÅÛ ÍÛÛ¾ÛÛ¶Û 14,00,000 

ÍÛ¾ÛÛÁõïõÛ¾Û …×•Ûé …Û¸ÛéÅÛ ¾ÛÛÅÛ ÍÛÛ¾ÛÛ¶Û 30,000 

¾ÛÛÅÛ ÍÛÛ¾ÛÛ¶Û¶ÛÛé …ÍÛÛ¾ÛÛ¶ýÛ ¼Û•ÛÛ¦ø 20,000 

Š©¸ÛÛþùïõ ¾Û›æ÷Áõà 20,00,000 

ÍÛ¾ÛÛÁõïõÛ¾Û ¾Û›æ÷Áõà 30,000 

…¶Ûä©¸ÛÛþùïõ ¾Û›æ÷Áõà 1,50,000 

”ÛÁéõ”ÛÁõ ˜ÛæïõÈÛéÅÛ ïõÛÁõ”ÛÛ¶ÛÛ ”Û˜ÛÛÙ 5,00,000 

¸Û¦ø©ÛÁõ¾ÛÛ× ŠµÛÛÁéõÅÛ ïõÛÁõ”ÛÛ¶ÛÛ ”Û˜ÛÛÙ 6,50,000 

”ÛÁéõ”ÛÁõ ˜ÛæïõÈÛéÅÛ ÈÛÐüàÈÛ¤øà ”Û˜ÛÙ 2,00,000 

¸Û¦ø©ÛÁõ¾ÛÛ× ÈÛÍÛäÅÛ ïõÁéõÅÛ ÈÛÐüàÈÛ¤øà ”Û˜ÛÛÙ 2,20,000 

ÈÛé̃ ÛÛ¨Û 50,00,000 

ÈÛÌÛÙ¶Ûé …×©Ûé ©ÛíéýÛÛÁõ ¾ÛÛÅÛ 2,50,000 

ÈÛÌÛÙ¶Ûé …×©Ûé ˜ÛÛÅÛäïõÛ¾Û 1,00,000 

 Š¸ÛÁõ¶Ûà ÜÈÛ•Û©ÛÛé ¸ÛÁõ¬Ûà ¸Û¦ø©ÛÁõ ”ÛÛ©ÛÛÈÛÐüà¾ÛÛ× ›÷ÄõÁõà ”ÛÛ©ÛÛ× ”ÛÛéÅÛÛé …¶Ûé ïõÛ˜Ûä× ÍÛÁõÈÛíéýÛä× ¼Û¶ÛÛÈÛÛé. 

 The balance in Cost Ledger of Avani Engi. Co. Ltd. On 31-12-12 were as under : 

 Dr. Cr. 

Store Ledger Control Account  3,40,000  

Work-in-process A/c. 2,60,000  

Finished stock ledger Adjustment A/c. 2,90,000  

General Ledger Adjustment A/c.  8,90,000 

 8,90,000 8,90,000 
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 Transaction for the year ended 2013 were as under :  

 `̀̀̀ 

Purchase of Materials 15,00,000 

Materials issued to Production 14,00,000 

Materials issued to Repairs 30,000 

Abnormal loss of materials 20,000 

Productive wages 20,00,000 

Repairing wages 30,000 

Un-productive wages 1,50,000 

Actually paid works expenses 5,00,000 

Works overhead debited in cost 6,50,000 

Actually paid administration expenses 2,00,000 

Administration Overhead recovered in cost 2,20,000 

Sales 50,00,000 

Finished goods at the end of the year 2,50,000 

Work-in-process at end of year 1,00,000 

 From the above information write account in Cost Ledger and prepare Trial Balance. 

 

3. (a) ¾ÛÐéüÍÛÛ¨ÛÛ ¤ÖøÛ¶ÍÛ¸ÛÛé¤Ùø ï×õ. ÜÅÛ. 5 ¤ø¶Û¶Ûà ÉÛÜî©ÛÈÛÛÇà …éïõ ¤Öøïõ¶Ûé ÅÛ•Û©Ûà ¾ÛÛÜÐü©Ûà ¶Ûà˜Ûé ¾Ûä›÷¼Û …Û¸Ûé 
™öé :   10 

¤Öøïõ¶Ûà ¾ÛæÇÝïõ¾Û©Û ` 10,00,000 

¤Öøïõ¶Ûä× …×þùÛœ÷ …ÛýÛäÌýÛ 10 ÈÛÌÛÙ 

¤Öøïõ¶ÛÛ …×þùÛœ÷ …ÛýÛäÌýÛ¶Ûé …×©Ûé ½Û×•ÛÛÁõÝïõ¾Û©Û ¤Öøïõ¶Ûà Ýïõ¾Û©Û¶ÛÛ 10%  

¦ÖøÛˆÈÛÁõ¶ÛÛé ¸Û•ÛÛÁõ ¾ÛÛÜÍÛïõ ` 5,000 

îÅÛà¶ÛÁõ¶ÛÛé ¸Û•ÛÛÁõ ¾ÛÛÜÍÛïõ ` 3,000 

ÈÛà¾ÛÛé ÈÛÛÜÌÛÙïõ ` 12,000 

ÁõÛé¦ø ¤éø“Û ÈÛÛÜÌÛÙïõ ` 6,000 

ÍÛä̧ ÛÁÜÈÛ¡ö¶Û ”Û˜ÛÙ ÈÛÛÜÌÛÙïõ ` 9,600 

¦øà¡öÅÛ …Ûé̂ ÅÛ ”Û˜ÛÙ ÅÛà¤øÁõ þùà¥ø ` 10 

…éïõ ÅÛà¤øÁõ ¦øà¡öÅÛ þùà¥ø Üïõ.¾Ûà. 10  Üïõ.¾Ûà. 

ÍÛ¾ÛÛÁõïõÛ¾Û ”Û˜ÛÙ ¾ÛÛÜÍÛïõ ` 2,200 

  ¤Öøïõ 100 Üïõ.¾Ûà.¶ÛÛ …×©ÛÁéõ …ÛÈÛéÅÛÛ× ¼Ûé ÉÛÐéüÁõÛé ÈÛ˜˜Ûé ¾ÛÛÅÛ¶Ûà ÐéüÁõºéõÁõ ïõÁéõ ™öé. þùÁõÁõÛé›÷¶Ûà ¼Ûé ÁõÛŠ¶¦ø 
¤Öøà¸Û ïõÁõÈÛÛ¾ÛÛ× …ÛÈÛé ™öé. ›÷©Ûà ÈÛ”Û©Ûé ¤Öøïõ¶Ûà ¸Ûæ̈ ÛÙ“Û¾Û©ÛÛ ›÷é¤øÅÛä ¶ÛæÁõ ¾ÛÇé ™öé. šýÛÛÁéõ ÈÛÇ©Ûà ÈÛ”Û©Ûé 
“Û¾Û©ÛÛ¶ÛÛ 60% ›÷é¤øÅÛä ¶ÛæÁõ ¾ÛÇé ™öé. 

  ¤Öøïõ ¾ÛÜÐü¶ÛÛ¾ÛÛ× ÍÛÁéõÁõÛÉÛ 25 ÜþùÈÛÍÛ ˜ÛÛÅÛé ™öé. ©Ûé¾Û µÛÛÁõà¶Ûé ¤ø¶Û Üïõ.¾Ûà. þùà¥ø ¸Û¦ø©ÛÁõ ÉÛÛéµÛÛé. 
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  Following is the information relating truck of 5 tons capacity of Mahesana 

Transport Co. Ltd. 

     `̀̀̀ 

Cost of Truck 10,00,000 

Estimate life of the truck 10 years 

Scrap-value at the end of estimated life of truck 10% of cost of truck 

Driver’s salary Monthly ` 5,000 

Cleaner’s salary Monthly ` 3,000 

Insurance Yearly ` 12,000 

Road tax Yearly ` 6,000 

Supervision Expenses Yearly ` 9,600 

Diesel-oil Expenses ` 10 per litre 

Kilometer per litre of diesel 10 km 

Repairs Expenses Monthly ` 2,200 

  The truck carries goods between two cities at a distance of 100 km. It make two 

round trips daily. It gets freight upto full capacity while outward journey and get 

freight upto 60% of the capacity during return journey. 

  Find out cost per ton k.m. assuming that the truck runs for 25 days on an average in 

a month. 

 (b) ¤æ×øïõ¶ÛÛêµÛ ÅÛ”ÛÛé : (…éïõ) 4 

  (1) œ÷©Û …Ü½Û•Û¾Û¶ÛÛé …¬ÛÙ …¶Ûé ©Ûé¶ÛÛ Š°éùÉÛ. 
  (2) …é¼ÛàÍÛà ¸Û±ùÜ©Û¶Ûä× ¾ÛÐü«ÈÛ 
  Write one : 

  (1) Meaning and objective of Just in Time Approach. 

  (2) Explain the importance of ABC. 

…¬ÛÈÛÛ/OR 

 …é-ÈÛ¶Û ï×õ¸Û¶Ûà ÜÅÛ. ¶ÛÛ ˜ÛÛȩ́ Û¦øÛ¾ÛÛ×¬Ûà 2012-13¶ÛÛ ÈÛÌÛÙ ¾ÛÛ¤éø ¶Ûà˜Ûé¶Ûà ÜÈÛ•Û©ÛÛé ¾ÛéÇÈÛÈÛÛ¾ÛÛ× …ÛÈÛà ™öé. ©Ûé 
ÍÛ¾ÛýÛ¾ÛÛ× Š©¸ÛÛþù¶Û 3000 …éïõ¾ÛÛé¶Ûä× ¬ÛýÛä× Ðü©Ûä×. ©Ûé¾ÛÛ×¬Ûà 2500 …éïõ¾ÛÛé …éïõ¾Û þùà¥ø ` 210 ÅÛé”Ûé ÈÛé̃ ýÛÛ× 
Ðü©ÛÛ.    14 

 `̀̀̀ 

ÈÛ¸ÛÁõÛýÛéÅÛ ïõÛ˜ÛÛé ¾ÛÛÅÛ 2,25,000 

Š©¸ÛÛþùïõ ¾Û›æ÷Áõà 1,20,000 

ïõÛÁõ”ÛÛ¶ÛÛ¶ÛÛ ÜÉÛÁõÛȩ́ ÛÁõà ”Û˜ÛÛÙ (60% ˜ÛÜÅÛ©Û) 90,000 

…ÛñÜºõÍÛ ÜÉÛÁõÛȩ́ ÛÁõà ”Û˜ÛÛÙ (ÜÍ¬ÛÁõ) 45,000 

ÈÛé̃ ÛÛ¨Û ÜÉÛÁõÛȩ́ ÛÁõà ”Û˜ÛÙ (20% ÜÍ¬ÛÁõ) 75,000 

 2013-2014¶ÛÛ ÈÛÌÛÙ þùÁõ¾ýÛÛ¶Û Š©¸ÛÛþù¶Û 4500 …éïõ¾ÛÛé¶Ûä× ¬ÛÉÛé …¶Ûé ÈÛé̃ ÛÛ¨Û 2012-2013¶ÛÛ 500 …éïõ¾ÛÛé 
ÍÛÛ¬Ûé ïäõÅÛ 4000 …éïõ¾ÛÛé¶Ûä× ¬ÛÉÛé Š©¸ÛÛþùïõ ¾Û›æ÷Áõà¾ÛÛ× 20% ÈÛµÛÛÁõÛé ¬ÛÉÛé. 

 ïõÛÁõ”ÛÛ¶ÛÛ¶ÛÛé ÜÍ¬ÛÁõ”Û˜ÛÙ …¶Ûé ÈÛé̃ ÛÛ¨Û ÜÉÛÁõÛȩ́ ÛÁõà”Û˜ÛÙ …¶Ûä’õ¾Ûé ` 9,000 …¶Ûé ` 17,000 ¬Ûà ÈÛµÛÉÛé. 
…ÛñÜºõÍÛ ”Û˜ÛÙ 30% ¬Ûà ÈÛµÛÉÛé. ¸Û¦ø©ÛÁõ ¸ÛÁõ 25% ¶ÛºõÛé ˜Û§øÛÈÛà¶Ûé ÈÛé̃ ÛÛ¨Û ïõÁõÈÛÛ¶Ûä× ™öé. 

 ¼Û×¶Ûé ÈÛÌÛÙ ¾ÛÛ¤éø ïäõÅÛ ©Ûé¾Û›÷ …éïõ¾Û þùà¥ø ¸Û¦ø©ÛÁõ þùÉÛÛÙÈÛ©Ûä ¸Û¦ø©ÛÁõ ¸ÛªÛïõ ©ÛíéýÛÛÁõ ïõÁõÛé. 
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 The following particulars are given A-one Co. Ltd. for the year 2012-13, during the 

period 3000 unit were produced and out of them 2500 unit were sold at ` 210 per unit.   

 `̀̀̀ 

Raw Material Consumed 2,25,000 

Production Wages 1,20,000 

Factory Overhead Expenses (60% variable) 90,000 

Fixed office overhead expenses 45,000 

Selling overhead expenses (20% fixed) 75,000 

 During the year 2013-14 production will be 4500 units and total sales will be 4000 units, 

including 500 units of the year 2012-13. Productive wages will increase by 20%. Fixed 

factory overhead expenses and fixed selling overhead expenses will be increased by         

` 9,000 and ` 17,000 respectively. Office overhead expenses will increased by 30%. 

 Sales are done by adding 25% on cost. Prepare a Cost Sheet of both the year for total and 

per unit cost. 

 

4. ÈÛÍÛ×©Û ï×õ. ÜÅÛ. ³ùÛÁõÛ ¸Û¦ø©ÛÁõ ”ÛÛ©ÛÛ¾ÛÛ×¬Ûà ›Ûé¼Û ¶Û×. 657 ³ùÛÁõÛ ¶Ûà˜Ûé¶Ûà ¾ÛÛÜÐü©Ûà ¸ÛóÛ¸©Û ¬Ûˆ ™öé : 14 

 `̀̀̀ 

¾ÛÛÅÛ ÍÛÛ¾ÛÛ¶Û 4,500 

ÈÛé©Û¶Û  

 ÜÈÛ½ÛÛ•Û-1 160 ïõÅÛÛïõÛé ïõÅÛÛïõ þùà¥ø ` 3.00 ÅÛé”Ûé  

 ÜÈÛ½ÛÛ•Û-2 120 ïõÅÛÛïõÛé ïõÅÛÛïõ þùà¥ø ` 4.00 ÅÛé”Ûé  

˜ÛÜÅÛ©Û ¸ÛÁõÛé“Û ”Û˜ÛÛÙ ¶Ûà˜Ûé ¾Ûä›÷¼Û µÛÛÁõÈÛÛ¾ÛÛ× …ÛÈýÛÛ Ðü©ÛÛ :  

 ÜÈÛ½ÛÛ•Û-1  ` 6,000 ›÷é 3000 ÍÛàµÛÛ ¾Û›æ÷Áõ ïõÅÛÛïõ ¾ÛÛ¤éø ™öé.  

 ÜÈÛ½ÛÛ•Û-2  ` 8,000 ›÷é 4000 ÍÛàµÛÛ ¾Û›æ÷Áõ ïõÅÛÛïõ ¾ÛÛ¤éø ™öé.  

ÜÍ¬ÛÁõ ¸ÛÁõÛé“Û ”Û˜ÛÛÙ  

 4000 ïõÅÛÛïõ ¾ÛÛ¤éø ` 8,000  

 ©Û¾ÛÛÁéõ ›Ûé¼Û ¶Û×. 657¶Ûà ¸Û¦ø©ÛÁõ¶Ûà •Û¨Û©ÛÁõà ïõÁõÈÛÛ¶Ûà ™öé. ›Ûé ÈÛé̃ ÛÛ¨ÛÝïõ¾Û©Û ` 7,567 ¬Ûˆ ÐüÛéýÛ ©ÛÛé 
¶ÛºõÛ¶ÛÛé þùÁõ ›÷¨ÛÛÈÛÛé. 
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 The following information regarding Job No. 657 is taken from cost account of Vasant 

Co. Ltd. 

 `̀̀̀ 

Materials  4,500 

Labour  

 Department 1 160 hours at ` 3.00 per hour  

 Department 2 120 hours at ` 4.00 per hour  

Variable overhead expenses were estimated as follow :  

 Variable Overhead  

 Department-1 ` 6,000 for 3,000 direct labour hour  

 Department-2 ` 8,000 for 4,000 direct labour hour  

Fixed Overheads  

 Estimated at ` 8,000 for 4,000 hours  

 You are required to calculate the cost of Job No. 657 and estimate the percentage of 

profit earned if the selling price was ` 7,567. 

…¬ÛÈÛÛ/OR 

 ¾ÛÐüÛÁõÛ›Û ©ÛÛ. 1-10-2013¶ÛÛ ÁõÛé›÷ ` 50,000 ¾ÛÛ× …éïõ Äõ¾Û ¼ÛÛ×µÛÈÛÛ¶ÛÛé ïõÁõÛÁõ ÅÛàµÛÛé …Û ïõÁõÛÁõ¶Ûé ÅÛ•Û©Ûà 
31-12-2013 ÍÛäµÛà¶ÛÛ ”Û˜ÛÛÙ ÈÛ•ÛéÁéõ¶Ûà ¾ÛÛÜÐü©Ûà ¶Ûà˜Ûé ¾Ûä›÷¼Û Ðü©Ûà : 14 

 `̀̀̀ 

ïõÛ¾Û¶ÛÛ Í¬ÛÇé ¾ÛÛéïõÅÛéÅÛ ¾ÛÛÅÛ ÍÛÛ¾Û•Ûóà 18,000 

ïõÁõÛÁõ ¸ÛÁõ ¾ÛÛéïõÅÛéÅÛ ýÛ×ªÛÛé 3,000 

˜ÛæïõÈÛéÅÛ ¾Û›æ÷Áõà 15,000 

˜ÛæïõÈÛéÅÛ ÍÛàµÛÛ ”Û˜ÛÛÙ 1,000 

ºõÛÇÈÛéÅÛ …Û¦øïõ©ÛÁõÛ ”Û˜ÛÛÙ 500 

Í¤øÛéÍÛÙ¾ÛÛ× ¸ÛÁõ©Û ïõÁéõÅÛ ¾ÛÛÅÛ ÍÛÛ¾Û•Ûóà 1,000 

¶ÛÈÛé¾¼ÛÁõ 2013 þùÁõ¾ýÛÛ¶Û ` 1000¶Ûà Ýïõ¾Û©Û¾ÛÛ× ÈÛé̃ ÛéÅÛ ýÛ×ªÛÛé 900 

¸Ûó¾ÛÛÜ¨Û©Û ïõÛ¾Û 40,000 

¾ÛÇéÅÛ ÁõÛéïõ¦ø 35,000 

Ü¼Û¶Û ¸Ûó¾ÛÛÜ¨Û©Û ïõÛ¾Û 5,000 

›÷•ýÛÛ ¸ÛÁõ ¾ÛÛÅÛ ÍÛÛ¾Û•Ûóà 31-12-13 300 

›÷•ýÛÛ ¸ÛÁõ ýÛ×ªÛÛé¶Ûà Ýïõ¾Û©Û 31-12-13 1,500 

ïõÁõÛÁõ¶Ûé ÅÛ•Û©Ûà ˜ÛæïõÈÛÈÛÛ¶Ûà ¼ÛÛïõà ¾Û›æ÷Áõà 31-12-13 500 

 ïõÁõÛÁõ¶ÛÛé 
2

3
 ½ÛÛ•Û¶ÛÛé ¶ÛºõÛé ¾ÛÇéÅÛ ÁõÛéïõ¦ø¶ÛÛ µÛÛéÁõ¨Ûé ¶ÛºõÛ-¶ÛäïõÍÛÛ¶Û ”ÛÛ©Ûé ÅÛˆ ›÷ÈÛÛ¶ÛÛé ™öé. ¾ÛÐüÛÁõÛ›Û¶ÛÛ 

˜ÛÛȩ́ Û¦éø ïõÁõÛÁõ ”ÛÛ©Ûä ©ÛíéýÛÛÁõ ïõÁõÛé. 
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 Maharaja undertook a contract on 1-10-2013 for building a room for ` 50,000. The 

particulars of expenses etc. relating to the contract up to 31 Dec. 2013 were as under : 

 `̀̀̀ 

Materials sent on side 18,000 

Machinery purchase for the contract 3,000 

Wage paid 15,000 

Direct expenses paid 1,000 

Indirect expenses allocated 500 

Material returns to stores 1,000 

Machinery costing ` 1,000 sold during Nov. 2013 900 

Work certified 40,000 

Cash received 35,000 

Work uncertified 5,000 

Value of materials on site on 31-12-13 300 

Value of machinery on site on 31-12-13 1,500 

Wages for the contract unpaid on 31-12-13 500 

 
2

3
 of the profit of the contract on the basis of cash received to be transferred to Profit & 

Loss A/c. 

 Prepare Contract A/c. in the ledger of Maharaja Ltd. 

 

5. ¶Ûà˜Ûé þùÉÛÛÙÈÛéÅÛ ¸Ûé¤øÛ ¸ÛóÊ¶ÛÛé¶ÛÛ …éïõ ïõÁõ©ÛÛ× ÈÛµÛä ›÷ÈÛÛ¼ÛÛé …Û¸ÛéÅÛ ™öé. ©Ûé ¸Ûíéïõà …éïõ›÷ ›÷ÈÛÛ¼Û ÍÛÛ˜ÛÛé ™öé. 
©Û¾ÛÛÁéõ ÍÛÛ˜ÛÛé ›÷ÈÛÛ¼Û ÅÛ”ÛÈÛÛ¶ÛÛé ™öé …¶Ûé ©Ûé¶ÛÛ ÍÛ¾Û¬ÛÙ¶Û¾ÛÛ× ›÷ÄõÁõà ÍÛ¾Û›æ÷©Ûà …Û¸ÛÈÛÛ¶Ûà ™öé. 14 

 For each of the following sub question has more then one answer are given, out of which 

one answer is correct. You are require to select the correct answer with necessary 

explanation for it. 

 (1) ¶Ûà˜Ûé¶ÛÛ ¸Ûíéïõà ïõˆ ÈÛÍ©Ûä¶ÛÛé ¸Ûó©ýÛ“Û ¾ÛÛÅÛ ÍÛÛ¾ÛÛ¶Û ¸Û¦ø©ÛÁõ¾ÛÛ× ÍÛ¾ÛÛÈÛéÉÛ ¬Û©ÛÛé ¶Û¬Ûà ? 

  (a) ©ÛíéýÛÛÁõ ïõ¸Û¦øÛ× ÍÛàÈÛÈÛÛ¾ÛÛ× ÈÛ¸ÛÁõÛ©ÛÛé þùÛéÁõÛé. 

  (b) ºõÜ¶ÛÙ̃ ÛÁõ ¼Û¶ÛÛÈÛÈÛÛ¾ÛÛ× ÈÛ¸ÛÁõÛ©Ûä ÅÛÛïõ¦ä×ø 

  (c) ïõÛ¸Û¦ø¶Ûà ¾ÛàÅÛ¾ÛÛ× ÈÛ¸ÛÁõÛ©Ûä Äõ 

  (d) ˆÅÛéî¤Öøàïõ ïéõ¼ÛÅÛ ÈÛÛýÛÁõ ¼Û¶ÛÛÈÛÈÛÛ¾ÛÛ× ÈÛ¸ÛÁõÛ©Ûä PVC¶Ûä× ¸Û¦ø 

  Which of the following items of cost is not considered “Direct Material Cost” 

  (a) Thread used in stitching garments 

  (b) Timber used to manufacture furniture 

  (c) Cotton used in textile mill 

  (d) PVC coating required to manufacture electric cable wires. 
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 (2)  ¶Ûà˜Ûé¶ÛÛ ¸Ûíéïõà ïõýÛä× ÜÈÛµÛÛ¶Û ÍÛÛ˜Ûä ¶Û¬Ûà ? 

  (a) ©ÛíéýÛÛÁõ ïõ¸Û¦øÛ×¶ÛÛ Š©¸ÛÛþù¶Û¾ÛÛ× ¼Ûé̃ Û¸Û¦ø©ÛÁõ ¸Û±ùÜ©Û ÈÛµÛä …¶ÛäïæõÇ ™öé. 

  (b) Ü¸ÛóÝ¶¤ø•Û ¸ÛóéÍÛ ¾ÛÛ¤éø ïõÁõÛÁõ ¸Û¦ø©ÛÁõ ¸Û±ùÜ©Û ÈÛµÛä …¶ÛäïæõÇ ™öé. 

  (c) ›Ûé¼Û-ïõÛéÝÍ¤ø•Û ïõ¸Û¦øÛ×¶Ûà Ü¾ÛÅÛ ¾ÛÛ¤éø …¶ÛäïæõÇ ¶Û¬Ûà. 

  (d) ÈÛÐüÛ¨Û ¼ÛÛ×µÛÈÛÛ¶ÛÛ Š²Ûé•Û ¾ÛÛ¤éø ïõÁõÛÁõ ¸Û¦ø©ÛÁõ ¸Û±ùÜ©Û ýÛÛé•ýÛ ™öé. 
  Which of the following statement is not correct ? 

  (a) Batch costing is more suitable in case of “Ready made garments 

manufacturing units”. 

  (b) Contract costing is more suitable to a printing press. 

  (c) Job costing is not suitable for a textile mill. 

  (d) Contract costing is preferred in case of ship building. 

 (3)  ¶Ûà˜Ûé¶ÛÛ ¸Ûíéïõà ïõýÛÛ µÛ×µÛÛ¶Ûé ÍÛéÈÛÛ ¸Û¦ø©ÛÁõ ¸Û±ùÜ©Û ÅÛÛ•Ûä ¸Û¦ø©Ûà ¶Û¬Ûà ? 

  (a) ÈÛÛÐü¶ÛÈýÛÈÛÐüÛÁõ ï×õ¸Û¶Ûà (b) ÐüÛé¤øÅÛ 

  (c) …Ûé̂ ÅÛ ÁõàºõÛˆ¶ÛÁõà (d) ÐüÛéÜÍ¸Û¤øÅÛ 
  In which of the following enterprises “Operating costing” is not applicable ? 

  (a) Transport companies (b) Hotels 

  (c) Oil Refineries (d) Hospital 

 (4)  ›Ûé ¸Û¦ø©ÛÁõ¶ÛÛ ÜÐüÍÛÛ¼ÛÛé ¾Ûä›÷¼Û ¶ÛºõÛé ` 10,000 ÐüÛéýÛ …¶Ûé –ÛÍÛÛÁõÛé ¸Û¦ø©ÛÁõ¶ÛÛ ÜÐüÍÛÛ¼ÛÛé¾ÛÛ× ` 25,000 
ÐüÛéýÛ …¶Ûé ¶ÛÛ¨ÛÛ×ïõàýÛ ÜÐüÍÛÛ¼ÛÛé¾ÛÛ× ` 22,400 ÐüÛéýÛ ©ÛÛé, ¶ÛÛ¨ÛÛ×ïõàýÛ ÜÐüÍÛÛ¼ÛÛé ¾Ûä›÷¼Û ¶ÛºõÛé ïéõ¤øÅÛÛé ÐüÉÛé ? 

  (a) ` 10,000 (b) ` 7,400 

  (c) ` 12,600 (d) Š¸ÛÁõ¶ÛÛ ¸Ûíéïõà ïõÛé̂  ¶ÛÜÐü 
  What will be the Financial profit when costing profit is ` 10,000 and depreciation 

charged in Cost Accounts and Financial Account are ` 25,000 and ` 22,400 

respectively ? 

  (a) ` 10,000 (b) ` 7,400 

  (c) ` 12,600 (d) None of these 

 (5)  ÍÛ¾ÛÛ¶Û ¸Û¦ø©ÛÁõ ¸Û±ùÜ©Û¶ÛÛé Ðéü©Ûä ™öé. 

  (a) Š©¸ÛÛþù¶Û¶Ûà ¸ÛóÜ’õýÛÛ¾ÛÛ× ¼Û•ÛÛ¦ø¾ÛÛ× –Û¤øÛ¦øÛé ïõÁõÈÛÛ¶ÛÛé 

  (b) ¸ÛÁõÛé“Û ”Û˜ÛÙ¶Ûà ºõÛÇÈÛ¨Ûà ÈÛíéßÛÛÜ¶Ûïõ Áõà©Ûé ¬ÛÛýÛ. 

  (c) …éïõ›÷ Š²Ûé•Û¶ÛÛ ¼ÛµÛÛ …éïõ¾ÛÛé ¾ÛÛ¤éø …éïõ›÷ ÈÛé̃ ÛÛ¨Û Ýïõ¾Û©Û ¶Û‘õà ïõÁõÈÛà 

  (d) ¾ÛÛÅÛ ÍÛÛ¾ÛÛ¶Û¶ÛÛé Í¤øÛñïõ …Ûé™öÛ¾ÛÛ× …Ûé™öÛé ÁõÛ”ÛÈÛÛé. 
  The objects of uniform costing is 

  (a) to reduce the waste in the process of production 

  (b) to apportion the overheads scientifically 

  (c) to determine same selling price for all units of the same industry 

  (d) to keep minimum inventory of material 
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 (6)  ¶Ûà˜Ûé¶ÛÛ ¸Ûíéïõà ïõýÛä× ¸Û•ÛÅÛä ¾Û›æ÷Áõ ºéõÁõ¼ÛþùÅÛà þùÁõ –Û¤øÛ¦øÈÛÛ¾ÛÛ× Š¸ÛýÛÛé•Ûà ¶Û¬Ûà ? 

  (a) ¸ÛÍÛ×þù•Ûà¶Ûà ÈÛíéßÛÛÜ¶Ûïõ ¸Û±ùÜ©Û 

  (b) ÍÛ×©ÛÛéÌÛïõÛÁõïõ ïõÛýÛÙ¶Ûà ¸ÛÜÁõÜÍ¬ÛÜ©Û¶Ûà ›Ûé•ÛÈÛÛˆ 

  (c) ïõÛ¾ÛþùÛÁõ ÍÛ×–ÛÛé ¸ÛÁõ ¸ÛóÜ©Û¼Û×µÛ 

  (d) •Ûóé̃ ýÛä̂ ¤øà …¶Ûé ¸ÛóÛéÜÈÛ¦ø¶¤ø º×õ¦ø¶ÛÛ ÅÛÛ½ÛÛé …Û¸ÛÈÛÛ 

  Which of the following measure is not going to reduce the labour turnover ? 

  (a) Use of scientific method of selection 

  (b) Provision of satisfactory working conditions 

  (c) Complete ban on labour union 

  (d) Providing gratuity and Provident Fund benefits   

 (7)  ¶Ûà˜Ûé¶ÛÛ ¸Ûíéïõà ïõˆ ¸Û¦ø©ÛÁõ¶Ûà ¸Û±ùÜ©Û ¶Û¬Ûà ? 

  (a) ÜÍÛ¾ÛÛ×©Û ¸Û¦ø©ÛÁõ ¸Û±ùÜ©Û (b) ›Ûé¼Û ¸Û¦ø©ÛÁõ ¸Û±ùÜ©Û 

  (c) ¼Ûé̃ Û ¸Û¦ø©ÛÁõ ¸Û±ùÜ©Û (d) ïõÁõÛÁõ ¸Û¦ø©ÛÁõ ¸Û±ùÜ©Û 

  Which one of the following is not a costing method ? 

  (a) Marginal costing (b) Job costing 

  (c) Batch costing (d) Contract costing 

______________ 


